Name________________________________		Easy/Medium-level Practice questions

Homework Questions: You must show all work in order to get full credit
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10)   (this is an Area question on the Regents…. not a volume question)
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16) A paint can is in the shape of a right circular cylinder. The volume of the paint can is 600 cubic inches and its altitude is 12 inches.
Find the radius, in inches, of the base of the paint can.  Express the answer in simplest radical form.
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The diameter of a basketball is approximately 9.5 inches and
the diameter of a tennis ball is approximately 2.5 inches. The volume
of the basketball is about how many times greater than the volume
of the tennis ball?

(1) 3591 (3) 55

2 65 (4) 4
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William is drawing pictures of cross sections of the right circular cone
below.

Which drawing can not be a cross section of a cone?
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Which figure can have the same cross section as a sphere?
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A hemispherical tank is filled with water and has a diameter of
10 feet. If water weighs 62.4 pounds per cubic foot, what is the total
weight of the water in a full tank, to the nearest pound?

(1) 16,336 (3) 130,690

(2) 32,673 (4) 261,381
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If the rectangle below is continuously rotated about side w, which
solid figure is formed?

(1) pyramid (3) cone
(2) rectangular prism (4) cylinder
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Which object is formed when right triangle RST shown below is
rotated around leg RS ?

s T

(1) a pyramid with a square base ~ (3) a right triangle

(2) an isosceles triangle (4) a cone
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A gallon of paint will cover approximately 450 square feet. An artist
wants to paint all the outside surfaces of a cube measuring 12 feet
on cach edge. What is the least number of gallons of paint he must
buy to paint the cube?

(DR} (3)3

2 2 (4) 4
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A shipping container s in the shape of a right rectangular prism with
alength of 12 feet, a width of 85 fect, and a height of 4 fect. The
container is completely filled with contents that weigh, on average,
025 pound per cubic foot. What is the weight, in pounds, of the
contents in the container?

(1) 1,632 (3) 102
(2) 408 (4) 92
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Tim has a rectangular prism with a length of 10 centimeters, a width of 2
centimeters, and an unknown height. He needs to build another rectangular prism
with a length of 5 centimeters and the same height as the original prism. The volume
of the two prisms will be the same. Find the width, in centimeters, of the new prism.
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A two-dimensional cross section is taken of a three-dimensional
object. If this cross section is a triangle, what can not be the three-
dimensional object?

(1) cone (3) pyramid

@) cylinder (4) rectangular prism
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A plane intersects a hexagonal prism. The plane is perpendicular to
the base of the prism. Which two-dimensional figure is the cross
section of the plane intersecting the prism?

(1) triangle (3) hexagon

@) trapezoid (4) rectangle
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The Great Pyramid of Giza was constructed as a regular pyramid
with a square base. It was built with an approximate volume of
2,592,276 cubic meters and a height of 146.5 meters. What was
the length of one side of its base, to the nearest meter?

1) 73 (3) 133
@ 77 (4) 230
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A rectangle whose length and width are 10 and 6, respectively, is
shown below. The rectangle is continuously rotated around a straight
line to form an object whose volume is 150s.

10

Which line could the rectangle be rotated around?
(1) along side (3) the vertical line of symmetry
(2) ashort side (4) the horizontal line of symmetry
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The pyramid shown below has a square base, a height of 7, and a
volume of 84.

AV

What is the length of the side of the base?
me 3) 18
(@) 12 (4) 36
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In the diagram below right triangle ABC has legs whose lengths are
4and 6.

What is the volume of the three-dimensional object formed by
continuously rotating the right triangle around AB?

(1) 32n (3) 961

(2) 487 (4) 144
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When volleyballs are purchased, they are not fully inflated. A partially inflated volleyball can
be modeled by a sphere whose volume is approximately 180 in%. After being fully inflated,
its volume is approximately 204 in®. To the nearest tenth of an inch, how much does the radius
increase when the volleyball is fully inflated?
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A water cup in the shape of a cone has a height of 4 inches and a
maximum diameter of 3 inches. What is the volume of the water in
the cup, to the nearest tenth of a cubic inch, when the cup is filled
to half its height?

m 12 3) 47

@) 35 (4) 141
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A student has a rectangular postcard that he folds in half lengthwise.
Nest, he rotates it continuously about the folded edge. Which three-
dimensional object below is generated by this rotation?
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A designer needs to create perfectly circular necklaces. The necklaces
each need to have a radius of 10 cm. What is the largest number of
necklaces that can be made from 1000 cm of wire?

15 (3) 31
(2) 16 (4) 32
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Molly wishes to make a lawn ornament in the form of a solid sphere.
The clay being used to make the sphere weighs .075 pound per cubic
inch. If the sphere’s radius is 4 inches, what is the weight of the
sphere, to the nearest pound?

(1) 34 (3) 15

(2) 20 () 4




